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ECONOMICS — MDC
Paper : CC-1
(Microeconomics - I)

Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicqte Jull marks
Group -A
L. Answer any ten questions - 10
X
(a) Mention two determinants of supply. 2

(b) State two differences between microeconomics and m
acroeconomics
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(c) What do you mean by externality?

(d) What is opportunity cost?

(e) What do you mean by average product of labour?

(D Define Production Possibility Frontier.

(g) What do you mean by marginal revenue?

(h) State the law of Absolute Advantage.

(i) What do you mean by unit elastic demand?

() What is a mixed economy?

(k) Mention two features of a perfectly competitive market.

(1) Define a market economy.

(m) Mention two differences between cardinal and ordinal approach to utility.

(n) Define long-run in production.

(0) If the labour employment increases from 10 to 11 in a firm, the total product changes from 750
to 820 units. What is the marginal product of labour?

Group - B
2. Answer any five questions :

(a) Establish the relationship petween total utility and marginal utility. 5

(b) Define income elasticity of demand. What is an inferior good? What is the income elasticity of
an inferior good? 2+2+1

(c) State the Law of Demand. Mention three exceptions to the law of demand. 243

(d) Define indifference curve. Mention three properties of an indifference curve. 243

(e) What is a public good? Mention two features of a public good. Give an example of a public good.

2+2+1

(f) What is a budget line? Show with the help of a diagram, the effect on the budget line if inc;x:_]g
rises.

(g) Distinguish between change in demand and change in quantity demanded. 5

(h) Define cross-price elasticity of demand. Distinguish between substitute and complements with 2&:;

3. Answer any three questions :

(a)

help of this concept.
Group-C

is equilibrium price determined through

a supply curve? How
2+2+6

9 What is

. ve
What is a demand cur d and supply curve?

the interaction of deman
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(b)

(c)

(d)

(e

Define price elasticity of demand. What is the price elasticity at the midpoint of a straight line
demand curve? Mention the determinants of price elasticity of demand. 2+2+6

Define Marginal Rate of Substitution (MRS). How is it related to the convexity of an indifference
curve? 2+8

Derive the conditions of consumer’s equilibrium in an economy with two commodities, where the
money income of the consumer and the prices of the commodities are fixed. 10

Define demand. What are the determinants of demand? Draw a perfectly elastic and a perfectly
inelastic demand curve. 2+4+(2+2)



